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Stoichiometry Involving Aqueous Solutions Worksheet

1.  What mass of potassium chloride is needed to precipitate all of the silver from 15.0 mL of a 0.200 M silver (I) nitrate solution?
KCl  +  AgNO3   (   KNO3  +  AgCl

2.  How many milliliters of 0.120 M hydrochloric acid are need to completely neutralize 50.0 mL of 0.101 M barium hydroxide?

HCl  +  Ba(OH)2   (   BaCl2  +  H2O

3.  If 42.7 mL of 0.208 M hydrochloric acid is needed to neutralize a solution of calcium hydroxide, how many grams of calcium hydroxide must be in the solution?

HCl  +  Ca(OH)2   (   CaCl2  +  H2O

4.  What is the minimum mass of sodium hydrogen carbonate required to react with 27 mL of 6.0 M sulfuric acid?
NaHCO3  +  H2SO4   (   Na2SO4  +  H2O  +  CO2
5.  In a laboratory, 6.82 g of Sr(NO3)2 is dissolved in enough water to form 0.500 L of solution.  A 0.100 L sample is withdrawn from this stock solution and titrated with a 0.0245 M solution of sodium chromate.  What volume of sodium chromate solution is needed to react with all of the strontium nitrate?

Sr(NO3)2  +  Na2CrO4   (   SrCrO4  +  NaNO3
6.  How many grams of potassium permanganate are present in 250 mL of a 0.0475 M solution?
7.  Acetic acid reacts with sodium hydroxide according to the equation shown below.  If 3.45 mL of vinegar needs 42.5 mL of 0.115 M sodium hydroxide to react in a titration, how many grams of acetic acid are present in a 1.10 L sample of this vinegar?

HC2H3O2  +  NaOH   (   NaC2H3O2  +  H2O

8.  What is the molarity of a sodium hydroxide solution if 48.0 mL is needed to neutralize 35.0 mL of 0.144 M sulfuric acid?
NaOH  +  H2SO4   (   Na2SO4  +  H2O
